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PART-I

Attempt any three of the following questions :

1. “Indiais a quasi-federal state”. Do you agree ?
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2. Write a note on financial relations between central government and state government in
India.

3. Analyse the role and functions of Election Commission in India.

4.  Discuss the importance of Financial Commission of India.

5. Write a note on any two political parties of India.

6.  What is the role of Regional parties in Indian Politics ?

7. Explain any two major challenges to National Integration of India.

8.  Discuss the role of caste in Indian politics.

PART-II

9.  Answer any four in brief :

(1)
)
3)
4)
)
(6)
(7
(8)
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Write the names of three lists given in Indian Constitution.
Who forms Inter-state committee and what is its role ?
What does Article-76 of Indian Constitution say ?

Write two functions of Comptroller and Auditor General.
Give any two features of Indian Party System.

Write in brief about Samajwadi Party.

What is the meaning of Communalism ?

Explain briefly Regionalism.
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